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General Instructions :

(1) This question paper contains 34 questions. All questions are

compulsory.
(it)  This question paper is divided into two parts — Part — A and Part — B.
(iit) Part— A is compulsory for all candidates.

(iv)  Part — B has two options i.e. (I) Analysis of Financial Statements and
(1) Computerised Accounting. Candidates must attempt only one of the

given options as per the subject opted.
(v) Question Nos. 1to 16 and 27 to 30 carries 1 mark each.
(vi)  Question Nos. 17 to 20, 31 and 32 carries 3 marks each.
(vit) Question Nos. 21, 22, and 33 carries 4 marks each.
(viit) Question Nos. 23 to 26 and 34 carries 6 marks each.

(ix)  There is no overall choice. However, an internal choice has been
prouvided in 7 questions of one mark, 2 questions of three marks, 1

question of four marks and 2 questions of six marks.
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1. (a) W8 qYl et T %4 % HEICR g q¢T 3 @ 2 % 39 | AH-8TH died § | Wi

& A H 1/49 9T o T 3iferdr =1 T 13 @rgier o &9 1 g fean mn | 9

T fufer <6t gSft skt % 3,00,000 @€T T 1,50,000 off | 31ferar 31t ISt < &

T3 2,00,000 g | TR o TwT 9T HH T TAT(T T T3 AT : 1
(A) ¥2,50,000 (B) < 8,00,000
(C) ¥ 4,50,000 D) % 1,50,000

AU

(b) Tl e | WPiER & AT 4 : 3 % AT § o Sied 8 | Sa o § 8/74 |
o foru forem o1 wes 3 "rEier sHrn, e 2/74 Wi s srftmge 399 i den
1/73 S <1 9Tt @ foran | T, wreedt e frem o1 o oy fawH squa e 1
(A 4:3:3 B) 5:3:2
) 2:3:5 D) 2:2:3

2. i, gu e gy Uk BH % TR 9 qUT 3 : 2 : 1% A H v sied 9 | gAT A
Y Yarfee &1 TE | g bl Fartigha <A fafr Bt gee 61 2 30,000 T 9 | I TEER 3
fota foren fop 3@ =g A o anfies fopval # ugel o Y wwTfed & Yy shieh feRarm
ST@T | % 30,000 <1 gdTaer f 5 | fob @rd o foparm st 2 1
(A) Gu T R @Al
(B) gH o fsuTees o1 @rar
(C) gH 1 deh @ral

(D) gHA <t =] Wil

3. ifter arfar fafiee = stHe fafies @ % 3,60,000 gear st ufwwafa w1 s femam e
% oI T PTaH T 100 TIh & 11% FITTHAT bl 10% g W Fifera wees o |

Hiftrer 317 fafiee o gro fFrifia sworEt 6 g oft - 1
(A) 3,600 B) 36,000
(C) 40,000 D) 4,000
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PART - A
(Accounting for Partnership Firms and Companies)

1. (a) Manas and Mili are partners in a firm sharing profits in the ratio of
3 : 2. Anita is admitted as a new partner for 1/4th share in future
profits. Capitals of Manas and Mili were ¥ 3,00,000 and ¥ 1,50,000
respectively. Anita brought ¥ 2,00,000 as her capital. The value of

goodwill of the firm on Anita’s admission. 1
(A) % 2,50,000 (B) ¥8,00,000
(C) % 4,50,000 (D) 1,50,000

OR

(b) Mini and Mansi are partners sharing profits in the ratio of 4 : 3.
They admitted Nisha as a new partner for 3/7th share in profits
which she acquired 2/7th from Mini and 1/7th from Mansi. The new

profit sharing ratio of Mini, Mansi and Nisha will be : 1
(A 4:3:3 B) 5:3:2
) 2:3:5 D) 2:2:3

2. Nita, Suman and Harish were partners in a firm sharing profits in the
ratio of 3 : 2 : 1. Suman retired from the firm. On the date of Suman’s
retirement, ¥ 30,000 was due to her. The remaining partners decided to
pay her in three yearly instalments starting from the end of the first year.

% 30,000 will be transferred to which of the following account : 1
(A) Suman’s Loan Account (B) Suman’s Executor’s Accounts
(C) Suman’s Bank Account (D) Suman’s Current Account

3.  Premier Auto Ltd. purchased assets of the value of ¥ 3,60,000 from Anand
Ltd. and made the payment of purchase consideration by issuing 11%
Debentures of ¥ 100 each at a discount of 10 %. The number of debentures

issued by Premier Auto Ltd. were : 1
(A) 3,600 B) 36,000
(C) 40,000 D) 4,000

67/5/2 AN Page 5 P.T.O.
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4.  Tfeed, e qem 3ifehd Tk BH % TTHGR & qUT 4 : 3 : 3% I H - Sied

& | 31 9T, 2022 1 FH 1 foered g1 | forered wfskan w1 qu s o for anfeea
frafa 1 7 b fore 3@ T 42,000 1 wiitfies & o1 | snfecy foeen = A
U o foTe wgwa &1 7 | foered W arEfass =2 % 33,000 U, fresht ymam snfee 3
fopam | amifeea & ISft w@rd % ST we H @Al ST STHaTett i g

(A) T 42,000 B) 33,000
(C) 9,000 D) 18,000
5. 3¢, foom 7o 9em U W % HIPER & 9T 4 : 3 : 3 % T § v dfed & | 1 37,
2022 § I8 GATY I Th F1 HIGR SR | 3G, [ooM, Fa TAT T 1 Fa1 <4
fauTeM 31Ut 3 : 3 : 2 : 2 BAM | 31 WE, 2022 i 3k fRufa ferewor 1 3gwor fm=
YRR G feamman g
TFang [ Ll el qfa
® ®)
frow SaR-wgra @= | 80,000 | A& @R gea 3 80,000) | 90,000
TS o T3 W Tersr Iar-<gra g=’ &1 f= o | 19 91 ohgieh 9al g 2
T
Trerm ™ T T
® ®
A) | oy IAR-<gE = @A T 10,000
TR @TaTl 10,000
B) | o IAR-=¢E = @A a 80,000
34 %1 il @t 32,000
[EEREARTIRCI] 24,000
Ta T St @At 24,000
(C) | qTYcHTHA GTaT am 10,000
a1 SAR-<rgTa d= @rar 10,000
D) | o ITR-=gE = @A Bl 80,000
[EERECIK] 10,000
§g 1 i @ 28,000
[EEREARTIRCI] 21,000
Ta 1 Yoft @ 21,000
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4. Aditya, Abhinav and Ankit were partners in a firm sharing profits in the
ratio of 4 : 3 : 3. On 31st March, 2022, the firm was dissolved. Aditya was
appointed to complete the dissolution process for which he was allowed a
remuneration of I 42,000. Aditya also agreed to bear dissolution expenses.
Actual expenses on dissolution amounted to I 33,000 which were paid by

Aditya. Aditya’s Capital Account will be credited by : 1
(A) 42,000 B) 33,000
(C) 9,000 (D) T 18,000
5. Indu, Vijay and Pawan were partners in a firm sharing profits in the ratio
of 4 : 3 : 3. They admitted Subhash into partnership with effect from 1st
April, 2022. New profit sharing ratio among Indu, Vijay, Pawan and
Subhash will be 3 : 3 : 2 : 2. An extract of their Balance Sheet as at 31st
March, 2022 is given below : 1
e Amount Amount
Liabilities @ Assets ®)
Investment 80,000 Investments 90,000
Fluctuation Reserve (Market Value % 80,000)
Which of the following is the correct accounting treatment of ‘investment
fluctuation reserve’ at the time of Subhash’s admission ?
JOURNAL
Particulars Debit Credit
Amt. @) | Amt. ®)
(A) | Investment Fluctuation Reserve A/c  Dr. 10,000
To Revaluation Alc 10,000
(B) | Investment Fluctuation Reserve A/c  Dr. 80,000
To Indu’s Capital A/c 32,000
To Vijay’s Capital Alc 24,000
To Pawan’s Capital A/c 24,000
(C) | Revaluation Alc Dr. 10,000
To Investment Fluctuation Reserve 10,000
(D) | Investment Fluctuation Reserve A/c  Dr. 80,000
To Investments Alc 10,000
To Indu’s Capital Alc 28,000
To Vijay’s Capital Alc 21,000
To Pawan’s Capital A/c 21,000
67/5/2 AN Page 7 P.T.O.
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6. (a) 3Afha, gt aun fFam amger E aum 2 : 2 ¢ 1% 79I § o-g1 &1 fawee
A & | G bl HHIME < & I G A T 15% HHSE I 7 | HHEHE ¢ °

TEIG AN % 9,20,000 7 | GHd i ¢ HHiEE 20 1
(A) % 1,20,000 (B) % 1,38,000
(C) % 48,000 (D) % 55,200

AYA

(b) ft, L qUT TR T HH % AR & qUT 2 : 2 : 1 31UId § A-71 sfed & | 31
HTE, 2022 ! F9TA 5T IY & folU 396 @A & 501 987 § Ot W <& 61 @
5% Ffa o ht T8 10% Wi o &L < 718 | IRt Trf ISt shwer: % 2,00,000; %
1,00,000 7T % 50,000 &t | 3 1 R & forw srrevaes guRieHT ity gnft . 1

AT
P Tamafyn | Smaw
®) ®)
(A) | 9t =1 =T @ ™ 2,000
Y T ITe] Wl 1,000
3TR 1 FTe] @Il 1,000
B) | 9t w1 =T @A g 3,000
Y T FTe] T 2,000
3TR T <] @ 1,000
(C) |t =1 gt @ T 2,000
Y T ST @r 1,000
3R 1 ISA et 1,000
D) | o =1 S @rar g 3,000
Y T ST @ 2,000
3TR o1 Ysft @rat 1,000
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6. (a) Amit, Sumit and Kiara are partners sharing profits and losses in the
ratio 2 : 2 : 1. Sumit is entitled to a commission of 15% on the net profit
after charging such commission. The net profit before charging
commission is T 9,20,000. The amount of commission payable to Sumit

will be : 1
A) 1,20,000 (B) 1,38,000
(C) 48,000 (D) 55,200
OR
(b) P, Q and R are partners in a firm sharing profits and losses in the
ratio of 2 : 2 : 1. For the year ended 31st March, 2022, interest on
capital was credited to them @ 10% p.a. instead of 5% p.a. Their fixed
capitals were ¥ 2,00,000; ¥ 1,00,000; ¥ 50,000 respectively. The
necessary adjustment entry to rectify the error will be : 1
JOURNAL
Particulars Debit Credit
Amt. ®) | Amt. })
(A) | P’s Current Alc Dr. 2,000
To Q’s Current A/c 1,000
To R’s Current Alc 1,000
(B) | P’s Current Alc Dr. 3,000
To Q’s Current A/c 2,000
To R’s Current Alc 1,000
(C) | P’s Capital Alc Dr. 2,000
To Q’s Capital A/c 1,000
To R’s Capital Alc 1,000
(D) | P’s Capital Alc Dr. 3,000
To Q’s Capital Alc 2,000
To R’s Capital Alc 1,000
67/5/2 AN Page 9 P.T.O.
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7. (a) TUHA, UH YT T Th BH o HISIGR & AT 5 : 3 : 2 o 1T H AT T FITTem i
211318, 2022 ° I8 AT bl SR died w1 ot foran | 39 fafr =& amm
eI H T 2,00,000 T AT AT TUT AT @Td F T 4,00,000 T STHT AT AT |

AT TrTor 31T | Ui o HRoT SRl o ToTe Tstmen farfs gt 1
T
feremur @ ]) | s A )
A) | 9= = g T= | 2,00,000
ATH BT Wl 2,00,000
(B) | w1 S @ g 80,000
T 1 YSh @ am 20,000
T 1 Yt @rat 1,00,000
(C) | =TT E= Gl M 2,00,000
-1 @ I | 4,00,000
TS T Yol @ 2,00,000
TH 1 Yol @I 2,00,000
T T GSft @ 2,00,000
(D) | FmE= 99F @ T | 2,00,000
A - Wl am | 4,00,000
T T Y51t @ra 3,00,000
TH T YSit @Tar 1,80,000
T 1 YA @t 1,20,000
JrerE
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7. (a) L, M and N are partners sharing profits in the ratio of 5 : 3 : 2. They

decided to share profits equally with effect from 1st April, 2022. On

that date, there was a balance of ¥ 2,00,000 in General Reserve and a

credit balance of ¥ 4,00,000 in the Profit and Loss Account. The

Journal Entry for the above on account of change in profit sharing

ratio will be : 1
JOURNAL

Particulars Debit Credit

Amt. @) | Amt. })
(A) | General Reserve A/c Dr. 2,00,000

To Profit and Loss A/c 2,00,000
(B) | M’s Capital Alc Dr. 80,000
N’s Capital Alc Dr. 20,000

To L’s Capital Alc 1,00,000
(C) | General Reserve Alc Dr. 2,00,000
Profit and Loss Ale Dr. 4,00,000

To L’s Capital A/c 2,00,000

To M’s Capital Alc 2,00,000

To N’s Capital Alc 2,00,000
(D) | General Reserve Alc Dr. 2,00,000
Profit and Loss Alc Dr. 4,00,000

To L’s Capital Alc 3,00,000

To M’s Capital Alc 1,80,000

To N’s Capital Alc 1,20,000

OR
67/5/2 AN Page 11 P.T.O.
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(b) T, IS AUT IS WHER & qUT 2 : 3 : 1 % FIITd A AY-FI sed & | 1 319,

2022 ¥ I8 Wiers o ol 1 3 : 2 ¢ 1 9% Irgara | diey 1 foka foram | oma-
B TaaTe= S7quTa o ufteds & 999 @rdl § gof 7 fohT 7T wHl=R %1 o, ot
q&dehi A fre JepR & feram St 1
(A) TTER % YSft @l o 19 U& H @t Hioh |
B) THETHA GTd % 19 9T H WA Hieh |
(C) YAYcATRA @Td o THT 9T H Wl i |

(D) TTHER & YSf @Il o ST U& § Gt Hieh |

8. (a) UH v foent Tam U fafdrs srafer Y worfeg w stean st i Sftem srafy
T Ushyyd YT feRvd § foha STaT 8, 39 €9 H 9 A4 | 1

(A)  era o

B) fafsre o= o=

(C) wreri T
(D) e o=
YT
(b) U % Hed § e # | w1 e w2 1

(A) FROTOET 1 TR TG foper ST e § |

B) FOTET 1 fiea o8 W E feran S HehaT B |

(C) =Horws w1 ferrtee wurfedies wfaegfa < & o feram ST aehaT 2 |
(D) FoTAT 1 fieT srferges ot fora S wehar 7 |
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(b) X, Y and Z are partners sharing profits and losses in the ratio of 2 : 3 :
1. They decided to share future profits in the ratio of 3 : 2 : 1 with
effect from 1st April, 2022. At the time of change of profit sharing ratio,

unrecorded furniture will be recorded in the books of Accounts by : 1

(A) Debiting it to Partners’ Capital Account
(B) Debiting it to Revaluation Account
(C) Crediting it to Revaluation Account

(D) Crediting it to Partners’ Capital Account

8. (a) The debentures which are payable on the expiry of a specified period
either in lump-sum or in instalments during the life time of the

company are known as : 1
(A) Secured debentures
(B) Specific coupon rate debentures
(C) Redeemable debentures
(D) Convertible debentures
OR
(b) Which of the following statement is incorrect with respect to debentures ? 1
(A) Debentures can be issued for cash.
(B) Debenture cannot be issued at discount.
(C) Debentures can be issued as collateral security.

(D) Debentures can be issued at premium.

67/5/2 AN Page 13 P.T.O.
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forer shreafen aftferfa w1 ufed qem sHeh SR T I3 9. 9 T 10 1 ST T ;

T, s e 3farar weh w0 HI A1eierR E 1 95 3 ;2 % AU B A diedt 8 | Ieht
Tyrft ISft shEeT: 7 1,80,000; 3 1,60,000 €T % 2,00,000 7 | 31 9T, 2022 1 FHT
LAY § e 3 yes fommet & 3= ° 3 7,500 o1 38 for |

9. WK Tord | Usft W 10% a1k G & ST ¢ o1 YTaeTH 2 | $H7ar sht ot ot &t

Tl gt 1
(A) % 18,000 (B) % 16,000
(C) 20,000 (D) % 10,000

10.  3719d HEIAT sht ST fSe UR STTE01 R oA b1 UM <h1 SIRAfY, B 1
(A) 3% HEH (B) 4% TER
(C) 7% HEH D) 6"EH

11. % 10 % Ush Fuar 3791 & w gt aftr oin <ft 7 off qen fsa w3 6 w1 yram foman
T AT TRT T PIAH 7 HH WO R forn w1 589 = ° 9 forg =pam o ®

g Frifha fema S &sha & 2 1
A) 4 B) %10
(€) %16 D) %6

12. F9ed W i % 10 Tk o 200 |war 3790 1 X 3 Wl 3791 ) W AT BT A
T T T E0T R Toram T | ¥ 2 Wi 3 SRt srfem e svft wivt i g ot | g

o fomaft Tfsn <At @it 3rer St < A ey | Shi St 2 1
(A) 2,000 B) 1,600
(C) % 1,000 D) 2,200
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Read the following hypothetical situation and answer Question Nos. 9 and 10

on the basis of the same.

Nitya, Shreya and Ishita are partners in a firm. They share profits in the
ratio of 5 : 3 : 2. Their fixed capitals are ¥ 1,80,000; ¥ 1,60,000 and
T 2,00,000 respectively. For the year ending 31st March, 2022, Nitya
withdrew ¥ 7,500 at the end of every quarter.

9. The partnership deed provided that interest on capital will be allowed

@ 10% p.a. The amount of interest on Ishita’s capital will be : 1
(A) 18,000 (B) T 16,000
(C) 20,000 (D) 10,000

10. The average number of months for which interest on drawings will be

calculated, will be : 1
(A) 3% months (B) 4% months
(C) 7% months (D) 6 months

11. An equity share of ¥ 10 fully called up on which ¥ 6 has been paid was

forfeited for the non-payment of the balance amount. At which of the

following minimum price can it be reissued ? 1
A 4 B) %10
€ %16 D) %6

12. 200 equity shares of ¥ 10 each issued at par were forfeited for non-payment

of first call of ¥ 3 per share. Final call of ¥ 2 per share was not yet called. By

which amount the share capital will be debited on forfeiture ? 1
(A) 2,000 B) 1,600
(C) 1,000 D) T 2,200

67/5/2 AN Page 15 P.T.O.
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13. geft, Jftar qen A T B % AIeeR 9 U1 5 ¢ 2 1 3 % I § AW-8TH sied 9 |
30 S, 2022 ! @il 1 9 71 T8 | ArEier] Horg § yang ot foh foret ot wmgier i
g < T gog <hi fafer 7o % o <1 H I5eh 9T 6 M0 fuwer ofF aut % 3ied @v

H¥ T 10,000 TR T SRR | 1
eadrasisoam g .
oo T /e ()

319, 2020 1,20,000

31 TT=, 2021 (50,000)

31 TTE, 2022 1,70,000
oy 1 farfer aeh e o et o1 W e
(A) % 35,000 (B) 9,583
(C) %28,750 D) 8,750

14. &, @ dU71 7 6l greier) ®H o foeed & aug afad o T 40,000 1 = 3 9 frg @ma

T gEdTaid feran Stae 2 1
(A) I @ (B) =t @
(C) dTIERI & Ysft @ (D) & @@

15. tfirener (A) : @rEier) UH @l o HeY FeY @ W SIaEE 1 oW §ied % T g 5
2 Toraent gemer g+t gra st g+t @ fo7u foret wen gru fran ST aeshan 2 | 1

&R (R) : AfE U TTRICR THI Thidl 1 IS SATHTT AT & 9T BH o @1 Fiefiar
HT 7, Al 98 IHhT @1 HT a1 a8 § 3fd aff 9 *1 PIae w1
M |

frefefiga @ 9 w2 fased =1 997 Hifvw -

(A) EHI (A) 7YT (R) HEI € |

(B) 3T (A) TT (R) T B |

(C) I (A) T (R) 5&l & 72T (R), (A) Fl gt AT 2 |
(D) eI (A) a1 (R) HEl & a1 (R), (A) ) o) sarean i 2 |

67/5/2 AN Page 16

Get More Learning Materials Here : & m @&\ www.studentbro.in



@
El H]

13. Khushi, Namita and Manvi were partners in a firm sharing profits and losses
in the ratio of 5 : 2 : 3. On 30tk June, 2022, Khushi died. The partnership deed
provided that on the death of a partner, her share of profit till the date of

death was to be calculated on the basis of average profit of last three years

less ¥ 10,000. 1
Profits for the last three years were :
Year ended Profits/Loss )

31st March, 2020 1,20,000

31st March, 2021 (50,000)

31st March, 2022 1,70,000
Khushi’s share of profit till the date of her death was :
(A) 35,000 (B) 9,583
(C) 28,750 (D) 8,750

14. On dissolution of the partnership firm of A, B and C, the accumulated

profits of ¥ 40,000 will be transferred to which of the following account ? 1
(A) Revaluation Account (B) Realisation Account
(C) Partners’ Capital Accounts (D) Bank Account

15. Assertion (A) : Partnership is the relation between persons who have
agreed to share the profits of the business carried on by all or any of
them acting for all. 1

Reason (R) : If a partner carries on any business of the same nature and
competing with that of the firm, he/she shall account for and pay to
the firm all profit made by him/her in that business.

Choose the correct option from the following :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are incorrect.

(C) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(D) Both (A) and (R) are correct and (R) is not the correct explanation of (A).

67/5/2 AN Page 17 P.T.O.
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16. (a) e fafies 9T 10 &8 % 1,10,000 3390 &1 52 20% Hiftem w frifia
Topam T e, T 2 wfd 319 1 o I a9 3 3 id 31w i 1f<m JmE

AT 7 ST T BT SR TOTIT | 3791 §X0T @I <h ST Ut | @l ehl SRt 1
(A) % 5,50,000 (B) % 17,70,000
(C) ¥2,20,000 (D) % 5,00,000
Jrgan
(b) FEHIRAAHYT G ? 1

(A) T DraIlTeh fAfes Sl & 3731 Yo §9 B gy T8 8 |

B) vea deft 3rfirea Uit w1 97 wm g e AT g |

(C) o % sfgfamt o & wé doft & arfereh Joft e wfara T o Eehdl |

D) Usft w1 T T At T 9 {59 e st & fages & gma € wim S
b 8, ISt T el B |

17. (a) %, A, Huct a7 foce Teh HH o FEIGR A qUT5: 3 : 2 : 2% I
W died 9 | 31 HIE, 2022 1 HAA WA & AT | T, N qer foews 3
T o T S-SR Sled 1 i fopam | et ot Hantgia o % 1 @t
T Feameh 3 9,00,000 foham 7= |

AU TTUT T TISAT § GITH §U HUA h! JATIT TR TN b GRS bl
3Teveh U= wiafs Hife | =g frofr forn mn 2 6 wnfa 61 % 6 geaest o
RURIEEIS I 3

Fera

(b) 3T AT AT AR & AT 3 : 2 % AT H AW dfed o | U I @9 H 1/49
9T % fore wd & aw fem e | $u st $Sft % w9 § % 40,000 @ | @,
TREFARTET qeT ST % IAHeATRA TG § Hafed aut SHmieH] o qeeTd 31qd
T T <t dSft shEE: T 60,000 TT T 40,000 oft | I wEHld g foh wEen i
Yt U A farwTee S7uTd < STER B |
U AEIERT 1 A i T STefl 1T 3 gl o1 S arelt Goft <A o
ST qer 8 fore srTevaes sk yfafy /gfafsat i | 3
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16. (a) Aysha Ltd. forfeited 1,10,000 shares of ¥ 10 each issued at 20%
premium for the non-payment of first call of ¥ 2 per share and final

call of ¥ 3 per share. Share Forfeited Account will be credited with : 1
A) 5,50,000 B) ¥7,70,000
(C) T2,20,000 (D) 5,00,000
OR
(b) Which of the following statements is true ? 1

(A) The shares of a public limited company are not freely
transferable.

(B) Paid up capital is that part of the subscribed capital which has
been called up.

(C) The company cannot raise more capital than the amount of
capital as specified in the Memorandum of Association.

(D) The part of the uncalled capital which is called only in the event
of winding up of the company is called Capital Reserve.

17. (a) Tarun, Abhishek, Kamal and Vivek were partners in a firm sharing
profits in the ratio of 5 : 3 : 2 : 2. Kamal retired on 31st March, 2022.
Tarun, Abhishek and Vivek decided to share future profits equally.
On Kamal’s retirement goodwill of the firm was valued at ¥ 9,00,000.
Showing your working clearly, pass the necessary journal entry for
treatment of goodwill on Kamal’'s retirement. It was decided not to
show goodwill in the books of the firm. 3

OR
(b) Atul and Geeta were partners sharing profits in the ratio 3 : 2. Ira
was admitted into the firm for 1/4th share of profits. Ira brought
% 40,000 as her capital. The capitals of Atul and Geeta after all
adjustments relating to goodwill, revaluation of assets and liabilities
etc. are ¥ 60,000 and ¥ 40,000 respectively. It is agreed that capitals
should be according to the new profit sharing ratio.

Calculate the amount of actual cash to be paid off or brought in by
the old partners. Pass the necessary journal entry/entries for the
same. 3

67/5/2 AN Page 19 P.T.O.

Get More Learning Materials Here : & m @&\ www.studentbro.in



CIkC]

Elh

18. (a) 3Trem, feomm aem Ugd U BH o HEiGR & AUT 2 : 3 : 1% I § oY §ied 9 |
TTIET T % TTIR TS 1 T 40,000 T hH TRE @ 718 off | 31 91, 2022
1 THTE gU Y | %H T I oy % 1,20,000 T |
31 AT, 2022, %1 qUT U Y o foT¢ & 61 e -g1f fafriem @ e fifse 1 3

Jreran
(b) tRaat e Ffaet |rEieR & qem 3 : 2 % AT H -1 dfed o | 3ThT TrRh

ISt shEeT: T 1,00,000 7T % 80,000 ff | St W 6% o gt H ST i HgAfd
7 | Tafaer =1 7 9,200 1 anfies I feam s o | o 2021-22 # GGt W =
1 T 8 g ] FRaS w1 I @ % 9ETd g o 2 1,20,000 T |

31 AT, 2022 = THT g IS o 1w H o1 oty -1 fafraeq @ s hifse ) 3

19. 3TN AT RN HIEeR 9 G971 3 : 2 % U § -1 §ied 9 | S8 o o 1/49
AT % 1T T 1 U HIEIER ST | BH <Al @1l i gedish Ity & i aui %
3 o SR T ST AT | BH 6T 3T g 19 T 20,000 AT | B H T 50,000 T deft
T o Ut A g @ 10% oY | 76N g @ e et siftem s i s o

i | 3

20. PR fafiee 7 319a fafiaes 1% 10,00,000 i giEmafwat @@m % 1,00,000 hi Fansti
13RI T 8,00,000 o 36T oI W fham | e feafires A % 2,60,000 T ST TH = 6
TeH | qUT I BT PTAE T 100 TAF b 12% FOHAT Dl 10% §3 W frifea weh
fopar | per forfiree <At qecenl § IURIERT ST ! UsHTH=I Fafsa Sife | 3

21. 3Afd fafiee T 10 Tk o a@ar o7 § fawed 3 8,00,000 i 31frha IS o @
gSfiehd ot | SHFOT A 60,000 FHAT 3791 & e < fofe atmees ke & &g =
ST fopam | et W 58,000 FoaT 3791 % fofu ST1aed wTed g | Teft AreETd whn oft 7E
T T B 18, et 3,000 370 h Uh LR T ! Bigaht o T 3 ufq 3191 i
TEQ TUT T AT 1 WA 21 AT T | 37 ST BT 301 hY. For 737 |

(a) St T, 2013 1 st II, s 1 3 S1aar fef foremo 3 e dsft efsu |
(b) EH & forw “@rdi o FigE” ft AR HIT | 4
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18. (a) Asha, Disha and Raghav were partners in a firm sharing profits in
the ratio of 2 : 3 : 1. According to the partnership agreement, Raghav
was guaranteed an amount of ¥ 40,000 as his share of profits. The
net profit for the year ended 31st March, 2022 amounted to
T 1,20,000.
Prepare Profit and Loss Appropriation Account of the firm for the
year ended 31st March, 2022. 3

OR
(b) Akhil and Nikhil were partners sharing profits and losses in the

ratio of 3 : 2. Their fixed capitals were ¥ 1,00,000 and I 80,000
respectively. Interest on capital was agreed @ 6% p.a. Nikhil was to
be allowed an annual salary of ¥ 9,200. During the year 2021-22, the
net profit prior to the calculation of interest on capital but after
charging Nikhil’s salary amounted to ¥ 1,20,000.
Prepare Profit and Loss Appropriation Account of the firm for the
year ending 31st March, 2022. 3

19. Aayush and Aarushi are partners sharing profits and losses in the ratio of
3 : 2. They admitted Naveen into partnership for 1/4th share. Goodwill of
the firm was to be valued at three years’ purchase of super profits.
Average net profit of the firm was ¥ 20,000. Capital investment in the
business was ¥ 50,000 and Normal Rate of Return was 10%. Calculate the
amount of Goodwill premium brought by Naveen. 3

20. Kuber Ltd. purchased assets worth ¥ 10,00,000 and took over liabilities of
% 1,00,000 of Amrit Ltd. for a purchase consideration of ¥ 8,00,000. Kuber
Ltd. paid ¥ 2,60,000 through a cheque and the balance was settled by
issuing 12% debentures of ¥ 100 each at a discount of 10%. Pass necessary
journal entries in the books of Kuber Ltd. for the above transactions. 3

21. Unnati Ltd. was registered with an authorised capital of ¥ 8,00,000
divided into equity shares of ¥ 10 each. The company issued a prospectus
inviting applications for 60,000 equity shares. The company received
applications for 58,000 equity shares. All calls were made and were duly
received except the second and final call of ¥ 3 per share on 3,000 shares
held by Manit. These shares were forfeited.

(a) Present the share capital in the Balance Sheet of the company as per
Schedule III, Part I of the Companies Act, 2013.

(b) Also prepare “Notes to Accounts” for the same. 4
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22. %, @ TUT T Ueh et 3cdTeesh BH & FIRER & | 4 2 1 2 : 1% U | -3l died 9 |
31 AT, 2022 w1 371 e ferawor fm g @ o -

31 |T, 2022 1 &, @ qA1 7 1 et feamon

ST afn aftamafat afn

®) ®)
g s1fiy e e 3,00,000
% - 1,50,000 g qan il | 2,50,000
@- 2,00,000 IER 80,000
T— 2.00.,000 | 5,50,000 | =i 70,000
M= T= 2,50,000 | Uhg & 60,000
TER 30,000 | S ¥ Tg 90,000

< faa 20,000

8,50,000 8,50,000

30 S, 2022 %! @’ 3l JoF BT 75 | HISIER] Tl o STTAR 366k I SAUTIRIIET b

e

(1) TId H 3k 9T T 24,000 |
(i) et I 12% anfifes g E =& |

(iii) Tg I Tafy o o & I|ept wr fgeht o fosRa 6 smam W SR
1 38, 2022 & 30 SH, 2022 T fosRa 3 1,25,000 9 | 31 W, 2022 W
THTd gC 9Y % forw w1 faskar qem ey shmer: % 10,00,000 €T ¥ 2,50,000

UT | IHeh BT ITAUTIHTIET b1 T i o 7T @' 1 ISt @rar daIr Hife | 4
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22. A, B and C were partners in a printer manufacturing firm. They were
sharing profits and losses in the ratio of 2 : 2 : 1. On 31st March, 2022
their Balance Sheet was as follows :

Balance Sheet of A, B and C as on 31st March, 2022

Liabilities Amount Assets Amount
® ®)

Capitals : Land and Building 3,00,000

A — 1,50,000 Plant and Machinery | 2,50,000

B - 2,00,000 Debtors 80,000

C - 2,00.000 | 5,50,000 | Stock 70,000

General Reserve 2,50,000 | Cash in hand 60,000

Creditors 30,000 | Cash at Bank 90,000
Bills Payable 20,000

8,50,000 8,50,000

B died on 30th June, 2022. According to the partnership deed, his legal

representatives are entitled to :

@

% 24,000 for his share of Goodwill.

(1) Interest on capital @ 12% p.a.

(i11) His share of profit till the date of death calculated on the basis of
sales. The sales from 1st April, 2022 to 30th June, 2022 were
T 1,25,000. The sales and profits of the firm for the year ending 31st
March, 2022 were ¥ 10,00,000 and ¥ 2,50,000 respectively.

Prepare B’s Capital Account to be rendered to his legal representatives.

67/5/2

Get More Learning Materials Here: &

Page 23

=X

@’E www.studentbro.in

P.T.O.



@
El H]

23. (a) YA, UGH a7 FTS Uk %H o HISIER & AT 5 : 3 : 2% UM § AT sred
g | 319, 2022 1 31 et foawo f s & o

31 W, 2022 ! HHA, AgeA a1 = < et feremon

N afa . afw

®) ®)
St offH T aA 1,70,000
HAA  1,20,000 g YT Hefid 2,60,000
g 1,20,000 wish 1,00,000
I 1.20,000 | 3,60,000 | ¢ER 80,000
qE= g 1,20,000 50,000

fafyr= TFer 1,80,000

6,60,000 6,60,000

Iorerd Tt 31 Uget HaTt-a 81 7T qT it =ral o) HEhid g3

(i) =T T geETeRd 2 3,50,000 feRa TR |

(i) fof= SFert § wftafera € 10,000 it wh Ue oft Rrweht g 7@ fopam st
T | 37q: Tafctiad ST fea 79T | Teleh o1 qodmhd < 90,000 foran T |

(iii) € ®Y TGS T 2,10,000 Frerifea 1 18 qen sHHT AURISH WY HISERT %
Y TI9TE T T BT AT | 3Hh T SATERIRATIIR Uhs oATS ST
1T $HhT YT ThT SR |

(iv) TE I <F T T FEATALT IHh 0T @I H HL ez S |

g hl e T IAHeTh @Il a1 HIRIER @ Yol Wd A I | 6
Jreran
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23. (a) Kamal, Rahul and Neeraj were partners in a firm sharing profits and
losses in the ratio of 5 : 3 : 2. On 315t March, 2022, their Balance
Sheet was as under :

Balance Sheet of Kamal, Rahul and Neeraj as on 31st March,
2022
Amount Amount
Liabilities Assets
®) ®)
Capitals : Land and Building 1,70,000
Kamal 1,20,000 Plant and Machinery | 2,60,000
Rahul 1,20,000 Stock 1,00,000
Neera; 1,20,000 | 3,60,000 | Debtors 80,000
General Reserve 1,20,000 | Cash 50,000
Sundry Creditors 1,80,000
6,60,000 6,60,000
On the above date, Rahul retired and following terms were agreed
upon :
(1) Goodwill of the firm was valued at ¥ 3,50,000.
(11) An item of ¥ 10,000 included in Sundry creditors is not likely to
be claimed and hence written off. Stock was valued at ¥ 90,000.
(i11) Capital of the new firm was fixed at T 2,10,000 and the same
will be adjusted in the profit sharing ratio of the remaining
partners. For this purpose the required cash will be brought in
or paid off as the case may be.
(iv) Amount payable to Rahul will be transferred to his loan
account.
Prepare Revaluation Account and Partners’ Capital Accounts on
Rahul’s retirement. 6
OR
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(b) 3Ty T foreiv TSR & qeM 3 : 2 % AU | -1 led & | 31 °E, 2022
o1 39ehT fRfa 31 A, 2022 w1 AT ae foriy w1 fRufer feremor foemor fm o
31 WT=l, 2022 k! 3efie qen ferorw =t feoufa feramon

S T ottt T
® ®
THER 30,000 | S T e 50,000
e fertedt foe 20,000 | IR 80,000
St T : G 0T o fU @I 2,000 | 78,000
FARMY  3,00,000 wih 1,12,000
fo9w  2.00,000 | 5,00,000 | wefd 3,00,000
KB EIICRCIG| 10,000
5,50,000 5,50,000
1 3199, 2022 1 A9 H Yo 91 o foru f=1 s1dt 92 A= <hl Ueh A1 WTeie) ST
T .
(@) = I Ot % fetw % 1,00,000 et wAta Sfiftem % 3t v % fow
% 50,000 TG ATT |

(i) 37ed festeft faret =1 symam w6 fean s |
(iii) ¥Teh T GoATehA T 12,000 3Terh 9T 70T |
T % Y9 T H < Jdeh] § STTadeh U= Tfafsat SHife | 6

24. (a) amft fafiee 33 10 7% % 1,00,000 Fuar 3791 1 10% e w frifia @
o ToTu 31 smmf=ra fopu | Tfst w1 e fr R B Q@
JATaIEH aT 3TMeed W — T 4 Ufa 3791 1 Siftew afea)
UG AT R — T 4 i 377
gadl wd Sf~w Free o — % 3 ufd 31w
1,50,000 3731 & foTu 31mdes wTed gU qut aft 3Trdeshl bl TUTde 3TTER W
e oK fean | srfafter 3tEed Tl 1 uTEeH IS W e T § 9
foram T | wes st e, fSER 600 379 o fau sAreeT foram o, 3 vem g
1 YA A& (6T | I8eh AT hT BT HL T T | ot qem Afecm a1l
T Wi FET TS oft | g7 foRu T 37RI H | e 7R Bl T 8 Wik 379 O wed g
Temtfira =t feam e |
& eI Bl JTEd AT WA T Yeed e @Al @ierht I
T o fore aroft feafireg ot qedenl § STraweres s gfafsar Hifs | 6
JrerE
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(b) Ashish and Vishesh were partners sharing profits and losses in the
ratio of 3 : 2. Their Balance Sheet as at 31st March, 2022 was as

under :
Balance Sheet of Ashish and Vishesh as at 31st March, 2022
. 4 evens Amount Amount
Liabilities ® Assets @
Creditors 30,000 | Cash at Bank 50,000
Outstanding Debtors 80,000
electricity bill 20,000 | Less : provision for bad debts 2,000 78,000
Capitals :
Ashish  3,00,000 Stock 1,12,000
Vishesh 2,00,000 | 5,00,000 | Machinery 3,00,000
Profit and Loss Alc 10,000
5,50,000 5,50,000

On 1st April, 2022, Manya was admitted into the firm with 1/4th

share in the profits on the following terms :

(1) Manya will bring ¥ 1,00,000 as her capital and ¥ 50,000 as her
share of goodwill premium in cash.

(1) Outstanding electricity bill will be paid off.

(i11) Stock was found over valued by ¥ 12,000. 6

Pass the necessary journal entries in the books of the firm on

Manya’s admission.

24. (a) Vani Limited invited applications for issuing 1,00,000 equity shares of
T 10 each at a premium of 10%. The amounts were payable as under :
On Application and Allotment — ¥ 4 per share (including premium 1)
On first call — ¥ 4 per share
On second and final call — X 3 per share
Applications for 1,50,000 shares were received and pro-rata allotment
was made to all the applicants.

Excess application money was adjusted towards sums due on calls.
Parth, a shareholder who had applied for 600 shares did not pay the
first call. His shares were forfeited. The second and final call was not

yet made. Half of the forfeited shares were reissued at ¥ 8 per share
fully paid up.

Journalise the above transactions in the books of Vani Limited by
opening calls in arrears and calls in advance account wherever
necessary. 6

OR
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(b) o= iRt & 37ar & &wor 9 5o fopw T 3T & y:fiee & fow srevaes
ﬁmﬂﬁwaﬁﬁﬁ
() fafm fafies 9% 10 w6 % 10,000 3791 &1 TS5 3 1 ufa 3191 Hifem
Totfira femam wmam o, % 2 Wi afwr <At gt e 1< A=A 1 PTaE 9 e
TR BT KT TTAT | 59 3T W H 60% I T T 7 Wi 379 U Yed g fifia
T fezm | 3
(i) <k fafies 7 T 10 I & 800 3730 o1 f59 W T 8 Wfd 379 At 77U 9,
% 3 Wil 3797 ST TH ATEHT T STTAM 7 i T EW01 K foram | aft g1 fepe
T 37 o1 ¥ 12 Wit 3791 901 e - Fifera e feam | 3

25. fafem afmmf (ke 1 Bigst) T i 987 SIATatl Sl agel @Td § il Hid
% TvTq 31 HE, 2022 HT Hfidr qun | weert $6 % faaed | e ot Y
AT USHTHT Tferfdat hif

(@) ¥ 90,000 % THERI 4 3194 g o YU T H T 2,00,000 T qfy a2 wad
foram |

(b) IR AT 50,000 % TERI BT T 40,000 H o forarm |
(c) faerea =3 1800 & frEeht e @i A fopam |

(d) T § oRaT T8 T TE Uk wf i Har 9 T 11,000 § o o, et g@ent
FuTfad SIS 4o % 15,000 o7 |

(e) TR T 20,000 % 37U Teeft o ST BT TAT i hI TgHTT & |
() TaEred W 50,000 19 B3I | 6

26. fathet fafiee 9 2 100 =@ % 2,000, 10% =Fora=i @1 frfea feran | fe ferfen o
FRUTTA] o T 61 STravares UsHr= wfafsat Hifv :
(a) & RO T FEA 10% Sifiem 9w fopam e qem st es 5% & Sifem ™
FATE |
(b) & T T T 5% &g TR femarm T a2t 39ehT M 10% it W g |
(c) & FOTUHT ST FRTHA THYE 9 R 7T e $ehT 3 10% STt W 2 | 6
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(b) Pass necessary journal entries for forfeiture and reissue of forfeited
shares in the following cases :
(1) Vipin Ltd. forfeited 10,000 shares of ¥ 10 each issued at a
premium of ¥ 1 per share, for non-payment of second and final
call of ¥ 2 per share. Out of these, 60% of the shares were
reissued at ¥ 7 per share fully paid up. 3
(11) Deepak Ltd. forfeited 800 shares of ¥ 10 each, ¥ 8 per share
called up, for non-payment of first call of ¥ 3 per share. All the
forfeited shares were reissued for ¥ 12 per share fully paid. 3

25. Pass necessary Journal Entries for the following transactions on the
dissolution of a partnership firm of Mita and Sonu on 31st March, 2022
after the various assets other than cash and third party liabilities have
been transferred to the Realisation Account.

(a) Creditors of ¥ 90,000 took over Land and Building of % 2,00,000 in
full settlement of their claim.

(b) Sonu took over debtors amounting to ¥ 50,000 at ¥ 40,000.
(¢) Realisation expenses ¥ 1800 were paid by Sonu.

(d) A machine which was not recorded in the books was taken over by
Mita at ¥ 11,000 while its expected market value was ¥ 15,000.

(e) Sonu agreed to pay off his wife’s loan of ¥ 20,000.
() Profit on dissolution amounted to ¥ 50,000. 6

26. Chiranjeevi Limited issued 2,000, 10% debentures of ¥ 100 each. Pass the
necessary Journal entries for the issue of debentures in the following

cases :

(a) When debentures were issued at 10% premium, redeemable at 5%

premium.

(b) When debentures were issued at 5% discount, redeemable at 10%

premium.

(¢) When debentures were issued at par, redeemable at a premium of
10%. 6

67/5/2 AN Page 29 P.T.O.

Get More Learning Materials Here : & m @&\ www.studentbro.in



Ol
aRT - @
ferea -1
(Forirar feramoti = fergesrom)
27. (a) T4 T QM 91 @ 1 IROH Jshe T8 &1 8T 2 1
(A) TR HTRT
B) fras %1 fasma
(C) Hwar 3T & Totea gy et =1 arfenrgor
(D) ROTHAT T e
Freran
(b) g TarTe e AR fopy ST o 3eva & waw — 1 fou ¢ eiei o) smi-1 3
& 1 I7h1 Tt ittt & fierm Hifv 1
@ - 1 @ - 11
(a) Tem wifcferfer i) =T % T
(b) Tt wfafafer (i) A HIHA
(c) YETeH Tt (iii) TEGT A forsh & T Tehg
@ ® (©
A) (i) @ 3G
®B) G) @ (i)
©) @ G 3G
D) G G G
28. (a) T dA®N A faxha foawo favermn & e (fafml) w61 2 2 1
() S YaTe forawor (i) 1 ferareom
(iii) Tt faamo (iv) U feversor
A) (@) T (i) B) (i) T (iv)
(C) (i) AT (iii) (D) (iii) T (iv)
Freran
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PART-B
OPTION -1
(Analysis of Financial Statements)
27. (a) Which of the following transaction will result in no flow of cash ?
(A) Purchase of machinery
(B) Sale of investments
(C) Acquisition of machinery by issue of equity shares
(D) Redemption of debentures
OR
(b) Match the transactions given in Column — II with their correct category
given in Column — I for the purpose of preparation of ‘Cash Flow
Statement’.
Column -1 Column - 11
(a) Investing Activity (1) Interest paid
(b) Financing Activity (i1) Purchase of Goodwill
(¢) Operating Activity (111) Cash receipts from sale of goods
(@ b (©
A @) @ @)
B @ @ @
© @O @) @)
M) @ @) @
28. (a) Which of the following are not tools of Financial Analysis ?
(1) Cash Flow Statement (11) Income Statement
(111) Balance Sheet (iv) Ratio Analysis
(A) (@) and (i1) (B) @i) and (v)
(C) (1) and (ii1) (D) (i1) and @v)
OR
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(b) =13 & By T R 7 1
(A) A SFIITAT shl TUHT ST <hl STEhTCA INETITAT sl HII o forw
ST 2 |
(B) =ITe] 31JUTA hi TR SITel STHTA o 10 H o} FTHT 1T 2 |
(C) VRIS 3TUTAT 1 TVMT S8 gRT Cleehlel H $6eh UM o WM hi
&Te o1 FIeTo 3 & forg SHT STt 2 |
(D) Eafirea TATa TR shi il o1 3g / et aiEair & wrsy urar § |

29. Uehg YT foemor aR #3 & 3293 & fm o @ o = wiafafrat semem nfafafiat £ 2 1
(i)  wfaefaa o T AT qen S |
(i) AR TEaeTy SR T P |
(iii) Ve qUT Yook | YT TS |
(iv) T o sha o fore 37wt st foefe |
(A) (i), (ii) AT (iii) B) (i), (iii) T (iv)
(€) (), (i) T (iv) D) (i) @ (iii)

30. wa fafies it =] woafaar € 2,00,000 qM = AT ¥ 1,50,000 & | Afe gEehT

Hrfefiet ISt ST1ad STIUTT 6 T 2, 1 SHeh! Sr=ITe o 3T 8if - 1
A) 2,00,000 B) ¥ 3,00,000
(C) % 2,50,000 D) % 1,50,000

31. ot srfurfaem, 2013 Y S7EEN 11, wrT I o 3R fe uei s et o feufa foemo
¥ for e wfient qerm IU-3fiehi o STwTd GRIT SR :

(a) < qAT 4 B

(b) HE WA W

(c) T-gI forawo 1 3y 3
32. ‘U8 U qoh1h & Foras it Seeli & IR g 31fehel bl gHafihd foRem ST 8 I 59

deheeh ohl UG ShIfSTT qT UG sh TS dehrieh o fehral @l 141 sh1 Jooid ShHIfVT | 3
67/5/2 AN Page 32

Get More Learning Materials Here : & m @&\ www.studentbro.in



@
El H]

(b) Which one of the following statement is incorrect ? 1

(A) Liquidity ratios are calculated to measure the short term
solvency of the business.

(B) Current ratio is also known as Acid Test Ratio.

(C) Solvency ratios are calculated to determine the ability of the
business to service its debt in the long run.

(D) Proprietary ratio expresses the relationship of proprietor’s
funds to net assets / total assets.

29. Which of the following activities are operating activities for the purpose of
preparing ‘Cash flow statement’ ? 1

(1) Dividend and Interest received on securities.

(11) Payment of employee benefit expenses.

(i11) Cash receipts from royalties and fees.

(iv) Issue of shares against purchase of machinery.

(A) (1), (i1) and (ii1) (B) (ii), (1ii) and (iv)
(C©) (@), @) and @@v) (D) (1) and (ii1)

30. The current assets of X Ltd. are ¥ 2,00,000 and its current liabilities are
% 1,50,000. If, its working capital turnover ratio is 6 times, its revenue

from operations will be : 1
(A) % 2,00,000 (B) < 3,00,000
(C) 2,50,000 (D) 1,50,000

31. Under which major heads and sub-heads will the following items be
presented in the Balance Sheet of a Company as per Schedule III, Part I
of the Companies Act, 2013 :

(a) Cheques-Drafts on hand
(b) Work-in-Progress

(¢) Balance in Statement of Profit and Loss 3

32. ‘It 1s a technique which involves regrouping of data by application of
arithmetical relationships.” Identify the technique and state any two
advantages of the technique identified. 3
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33. (a) Tt g @ sTrfiiyes qen srfam weie Y o Hifre

e 3TeRT AU — 4 IR

Hehol oY = Y=o 9 3T T 20%

=T 8 3P = T 10,00,000

IR Teieh, =M T T 25% 2 | 4
et
(b) s fAfes 1 For-uwar AU 2 : 1 8 | RO Gfed arsy foh T oiet & or-
AT STAT T, T 1T 3 h1s GRad T B -
@ ¥ 3,00,000, 9% FOTHAT BT THAT T H qREd |
(i) <TERI ¥ ¥ 1,00,000 6 g I |
(iii) ¥ 10,00,000 % 11% FUTIAT T INEA |
(iv) ¥ 4,00,000 < HT T IUR 5T | 4
34. T wreufie U 1 ufgw qem 3o smam o = fo 7o gwEl & s i
af 2019 # srfefy T ‘foss fafiee am @1 3 wid-amm 1 fran | fosw
fafies w ok @ FepTer At o1 2 | TRed o Jid SITTEehdl o R0l TTAR s
T T IHRT A 9G TR |
31 AT, 2022 1 FET g 99 & fou feest foafiee & feufa foewo @ fom g sef@
HIE 6
31 W=, 2022 31 W, 2021
®) )
T 377 doft 90,00,000 60,00,000
11% T 30,00,000 50,00,000
I (STAT o W) 28,00,000 20,00,000
R R ThHEA s 90,000 60,000
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33. (a) From the following information, calculate the value of opening and

closing inventory :

Inventory Turnover Ratio — 4 times

Gross Profit = 20% on Revenue from operations

Revenue from operations =¥ 10,00,000

Opening inventory is 25% of the inventory at the end. 4

OR
(b) Debt-Equity Ratio of Z Ltd. is 2 : 1. State with reason whether the

following transactions will improve, decline or will not change the

debt-equity ratio :

(1) Conversion of ¥ 3,00,000, 9% debentures into equity shares.
(i1) Cash received from debtors ¥ 1,00,000.

(111) Redemption of ¥ 10,00,000, 11% debentures.

(iv) Purchase of goods on credit ¥ 4,00,000. 4
34. Read the following hypothetical text and answer the questions given
below on the basis of the same :

Aditi, initiated her start-up ‘Fizz Ltd. in 2019. ‘Fizz Ltd. is an
organic juice extracting unit. Its profits are increasing year-after-year
because of the increasing awareness towards health. 6
Following information has been extracted from the Balance Sheet of ‘Fizz
Ltd. for the year ended 31st March, 2022 :

31st March, 2022 | 31st March, 2021
) ®

Equity Share Capital 90,00,000 60,00,000
11% Debentures 30,00,000 50,00,000
Machinery (at cost) 28,00,000 20,00,000
Accumulated Depreciation on

Machinery 90,000 60,000
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(i) o % S T 4,00,000 AT <ht Teh T T fospa T 30,000 o & T femam 7 |
(i) ¥ § e o SR T gedsrE ¥ 50,000 o7 |

(iii) 11% O W A fohu T STt Y Ui 7 5,50,000 oft |

(iv) FHAT 37 W T 3,00,000 o ATHI T PTAM Toha1 717 |

(v) RO T YA 31 A, 2022 w1 10% Siferrg ox foperm mam |

Fopew fetfiree 1 fraw nfafaftmr aen foxfia nfafalrr @ e yarg & mom hifse |

T -9
Rerea - 11
(stfrenfer Sraie)
27. U8 g fSl 318 (Srewracy) AU« Harqien aftiferd g, e ¢ : 1
A) it (Hifee) Fieg (B) TUS () HrgH
(C) weI g (D) Hfa Tew (W) HigH

28. (a) UH UH UaEH H T &F (Fleg) ™ fore o fou 3w feru 511 depd aret 31ftrenad
A= (HLaeH) Y TSR 1
A) 28 B) 32
C) 64 D) 104
P
(b) aeheie ¥ fysaifeq <t 8 srf=m fran i Ieted & foru f= o @ &9 o wAe &
STt & 2 1
Q) g B) =
C) = D) &g

29. fom= @ | %1 a1 fUee ot &1 o T8 8 ? 1
(A) ATl &1 BHET AT (Fr=ieT)
B) Iuurer Fftgut
(C) TR ol Uferd e Uk ol T | o STHT
(D) ATkl T S AT BT T TE B Hehall & |
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Additional Information :

(1) During the year, a machine costing T 4,00,000 was sold at a gain of
< 30,000.

(i1) Depreciation charged on machinery during the year was ¥ 50,000.
(111) Interest paid on 11% debentures amounted to ¥ 5,50,000.

(iv) Dividend of ¥ 3,00,000 was paid on equity shares.

(v) Debentures were redeemed at a premium of 10% on 31st March, 2022.

Calculate cash flows of ‘Fizz Ltd.” from ‘Investing Activities’ and
‘Financing Activities.’

PART-B
OPTION -11
(Computerised Accounting)

27. Codes comprising of alphabets or abbreviation are known as . 1
(A) Sequential codes (B) Block codes
(C) Number codes (D) Mnemonic codes

28. (a) Maximum number of characters that can be used to write a field

name in MS Access is : 1
(A) 28 B) 32
(C) 64 D) 104
OR
(b) Which of the following command reverses the last action performed
in the worksheet ? 1
(A) Undo B) Cut
(C) Paste (D) Redo
29. Which of the following is not the advantage of Pivot table ? 1

(A) Filtering of data
(B) User-friendly
(C) Moving rows to columns and columns to rows

(D) Cannot summarise large amount of data
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30. (a) T 8@ SN A1 IE-TF HE (BeRE) HT qh (FHS) T 2 2 1
A) TI-IRG-T (FF-FF-2)
B) T — 9 — A (I — I — Hied)
(C) HoI —Afg — 3/ (I — TF — HicH)
(D) dfehes TR (SATTTRST )

areran
(b) s eh Tt Seheeh b1 Go fehan STt 2 i feart Tt erehaite fems 2t & 2 1
A = (B) =X
(C) @ D) @

31. TRETRA a1 Jured! i f Iu-somferli s q9emse -
(a) Uhe TUT Sh IT-UITA
(b) Torsra auT YT @I IT-YUTTedt 3

32. ‘T WEYT, ‘Yiawra qur falRry i srieer weuu faftrai & w9 § g9y | 3

33. (a) IGHd Ik i YRYTNG HITT qeT Th oi@iehd =k § Gfftiferd Aa=emnati i

THATET | 4
Jrera
(b) ATreRfeT cr@TR JUTTCR o FREITCHe 1Y o &9 § “TTHTES TR qT ‘ST 3Aftse’
%1 31 Ty Shifvw | 4

34. 39 3AILg T A FASY S I8 Yehe BNl & & dA dHed (YBiF) 99 & g1 | Iooi@
SHifore fop o8 3mIfg Shat TRMfra <At 5T wehelt 2 | 6
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30. (a) Which of these is not a argument of the IF function ? 1
(A) Value-if-true (B) Value-when-false
(C) Value-if-false (D) Logical test
OR
(b) How many blank worksheets are shown when a new workbook is
created ? 1
(A) Three (B) Four
(C) One D) Two
31. Explain the following sub-systems of Accounting Information System :
(a) Cash and Bank Sub-system
(b) Sales and Accounts Receivable Sub-system 3
32. Explain — ‘Number formatting’, ‘Percentages’ and ‘Dates’ as data
formatting tools. 3
33. (a) Define Accounting cycle and state the phases involved in an
Accounting cycle. 4
OR
(b) Explain the meaning of ‘Password Security’ and ‘Data Audit’ as
security features of Computerised Accounting System. 4
34. Name the error which appears when the cell reference is not valid. State
how this error can be corrected. 6
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MARKING SCHEME
STRICTLY CONFIDENTIAL
(FOR INTERNAL AND RESTRICTED USE ONLY)
SENIOR SCHOOL CERTIFICATE EXAMINATION, 2023
SUBJECT NAME: ACCOUNTANCY (Subject Code 055)
QUESTION PAPER CODE 67/5/2

General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession. To
avoid mistakes, it is requested that before starting evaluation, you must read and understand
the spot evaluation guidelines carefully

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to publicin
any manner could lead to derailment of the examination system and affect the life and future
of millions of candidates. Sharing this policy/document to anyone, publishing in any
magazine and printing in News Paper/Website etc may invite action under various rules of
the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be
done according to one’s own interpretation or any other consideration. Marking Scheme
should be strictly adhered to and religiously followed. However, while evaluating, answers
which are based on latest information or knowledge and/or are innovative, they may be
assessed for their correctness otherwise and due marks be awarded to them.

The Marking scheme carries only suggested value points for the answers.These are in the
nature of Guidelines only and do not constitute the complete answer. The students can have
their own expression and if the expression is correct, the due marks should be awarded
accordingly.

The Head-Examiner must go through the first five answer books evaluated by each evaluator
on the first day, to ensure that evaluation has been carried out as per the instructions given in
the Marking Scheme. If there is any variation, the same should be zero after deliberation and
discussion. The remaining answer books meant for evaluation shall be given only after ensuring
that there is no significant variation in the marking of individual evaluators

Evaluators will mark( vV ) wherever answer is correct. For wrong answer CROSS ‘X” be marked.
Evaluators will not put right (v')while evaluating which gives an impression that answer is
correct and no marks are awarded. This is most common mistake which evaluators are
committing.

If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly

If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly
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9 If a student has attempted an extra question, answer of the question deserving more marks
should be retained and the other answer scored out with a note “Extra Question”.

10 No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

11 A full scale of marks 80 has to be used. Please do not hesitate to award full marks if the answer
deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every
day and evaluate 20 answer books per day in main subjects and 25 answer books per day in
other subjects (Details are given in Spot Guidelines)

13 Ensure that you do not make the following common types of errors committed by the Examiner
in the past:-

e Leaving answer or part thereof unassessed in an answer book.
e Giving more marks for an answer than assigned to it.
e Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title page.

e Wrong question wise totaling on the title page.

e Wrong totaling of marks of the two columns on the title page.

e Wrong grand total.

e Marks in words and figures not tallying/not same.

e Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for incorrect
answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 While evaluating the answer books if the answer is found to be totally incorrect, it should be
marked as cross (X) and awarded zero (0) marks

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all concerned, it
is again reiterated that the instructions be followed meticulously and judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines for
spot Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the
title page, correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on payment of
the prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are
once again reminded that they must ensure that evaluation is carried out strictly as per value
points for each answer as given in the Marking Scheme.
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PART A
(ACCOUNTING FOR PARTNERSHIP FIRMS AND COMPANIES)
1 | (a) Q. Manas and Mili are partners .........cccceeeeeeeuennee. 1
mark
Ans. (D) --¥1,50,000
OR OR
(b) Q. Mini and Mansi are partners ........ccccceeveecerrceecnnnns 1
mark
Ans. (D) --2:2:3
2 | Q. Nita, Suman and Harish .......cccccceeeccuunnen.
1
Ans. (A) -- Suman’s Loan Account mark
3 | Q. Premier Auto Ltd .........ccceevrruncnnnns
1
Ans. (D) -- 4,000 mark
4 | Q. Aditya, Abhinav and Ankit were partners ........cccceeveerveennne
1
Ans. (A)--3 42,000 mark
5 | Q. Indu, Vijay and Pawan were partners .........cccceceeecuerences
Ans. (D) 1
JOURNAL mark
Date | Particulars L.F. Dr. Cr.
Amount (Z) | Amount ()
Investment Fluctuation Reserve A/c Dr. 80,000
To Investments A/c 10,000
To Indu’s Capital A/c 28,000
To Vijay’s Capital A/c 21,000
To Pawan’s Capital A/c 21,000
6 | (a) Q. Amit, Sumit and Kiara are partners ......c..ccccceeurreencen. 1
mark
Ans. (A)--31,20,000
OR OR
(b) Q. P, Q and R are partners .......cceeveeeveeervennne
1
Ans. (B) — mark
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JOURNAL
Date | Particulars L.F. Dr. Cr.
Amount (I) | Amount ()
P’s Current A/c Dr. 3,000
To Q’s Current A/c 2,000
To R’s Current A/c 1,000
7 | (a) Q. L, Mand N are partners .......cceceereeceernnnne
Ans. (D)
JOURNAL
Date | Particulars L.F. Dr. Cr.
Amount (Z) | Amount ()
General Reserve A/c Dr. 2,00,000
Profit and Loss A/c Dr. 4,00,000
To L's Capital A/c 3,00,000
To M’s Capital A/c 1,80,000 1
To N’s Capital A/c 1,20,000 mark
OR OR
(b) Q. X, Y and Z are partners ........cceceeeerveecuene
1
Ans. (C) -- Crediting it to Revaluation Account mark
8 | (a) Q. The debentures which are ............cceerueeueene 1
mark
Ans. (C) -- Redeemable Debentures
OR OR
(b) Q. Which of the following statement is incorrect ......c.ceceeveerneeneene 1
mark
Ans. (B) -- Debentures cannot be issued at discount
Read the following hypothetical situation ............cccceuuu.e.
9 | Q. The partnership deed provided ...........ccccceveuuenee
1
Ans. (C)--%20,000 mark
10 | Q. The average number of months .........ccccceeeueeenenn.
1
Ans. (B) --4 % months mark
11 | Q. An equity share of .........cceevriienenns
1
Ans. (A)--% 4 mark
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12 | Q. 200 equity shares Of .......cccceevrreervennnne
1
Ans. (B)--3 1,600 mark
13 | Q. Khushi, Namita and Manvi were partners .........ccccecueeceennne
1
Ans. (D)--% 8,750 mark
14 | Q. On dissolution of the partnership firm.........ccccceccrrerucene
1
Ans. (C)— Partners’ Capital Accounts mark
15 | Q. Assertion (A) : Partnership is the ........cccccovvveeeerrreeceeceenees
1
Ans. (D) -- Both (A) and (R) are correct and (R) is not the correct explanation of (A) mark
16 | (a) Q. Aysha Ltd forfeited .........ccceecverueenene 1
mark
Ans. (A)--Z5,50,000
OR OR
(b) Q. Which of the following statements is true ......c..ccccceeereeeennennen.
1
Ans. (C) -- The company cannot raise more capital than the amount of capital as specified mark
in the Memorandum of Association
17 | (a) Q. Tarun, Abhishek, Kamal and Vivek were partners ......c.ccceeveeceeereeeersreennes
Ans.
Books of Tarun, Abhishek, Kamal and Vivek
JOURNAL
Date Particulars L.F. Dr. Cr.
Amount(Z) | Amount(%)
2022 Abhishek’s Capital A/c Dr. 75,000
March 31 | Vivek’s Capital A/c Dr. 1,50,000
To Kamal’s Capital A/c 1,50,000 | | 114
To Tarun’s Capital A/c 75,000
(adjustment for goodwill in gaining
ratio on Kamal’s retirement)
Working +
Old Ratio — Tarun: Abhishek: Kamal: Vivek = 5:3:2:2
New Ratio - Tarun: Abhishek: Vivek =1:1:1
Gaining Share of Tarun = New Share — Old Share
=1/3-5/12
= (-) 1/12 {sacrifice} 1%
Gaining Share of Abhishek = New Share — Old Share
=1/3-3/12
=1/12 {gain}
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= New Share — Old Share
=1/3-2/12 =
=2/12 {gain}
Kamal’s share of Goodwill =2/12 x 9,00,000 =3 1,50,000
OR OR
(b) Q. Atul and Geeta were Partners .........cceecceceeeeeeeneeseecnes
Ans.

Gaining Share of Vivek

Books of Atul and Geeta

JOURNAL
Particulars L.F. Dr. Cr.
Amount(3) Amount(3)
20,000

Date

Cash or Bank A/c Dr.
To Atul’s Capital A/c
To Geeta’s Capital A/c
(cash brought in by Atul and Geeta for
capital adjustment on Ira’s admission)

12,000
8,000 1%

Working
Old Ratio = Atul : Geeta = 3:2 +

Ira admitted for 1/4 share,

Remaining Share for Atul and Geeta = 1-1/4 = 3/4
New Share of Atul= 3/5x3/4=9/20

New Share of Geeta =2/5 x 3/4 =6/20

New Ratio = Atul : Geeta : Ira =9:6:5

Total Capital of New Firm =3 40,000 x 4 =% 1,60,000

Atul
Amount ()

Geeta
Amount ()

New Capital

72,000

48,000

Less Existing Capital

60,000

40,000

1%

marks

Cash Brought In 12,000 8,000

18 | (a) Q. Asha, Disha and Raghav were partners.........ccccoeeveeeeercrecceesennes
Ans.
Profit and Loss Appropriation Account
Dr. for the year ended 31 March 2022 Cr.
Particulars Amount | Particulars Amount
®) ®)
By P&L A/c 1,20,000
(Net Profit)

To Profit transferred to Partners’
Capital A/c
Asha

(-) guarantee to Raghav

(1/2)
40,000

8,000 32,000 | (1/2)
Disha

(-) guarantee to Raghav

60,000

12,000 48,000 | (1/2)

Raghav 20,000
(+) guarantee from Asha 8,000
(+) guarantee from Disha 12,000 40,000

1,20,000

(1%) 3
1,20,000 | | marks
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OR OR
(b) Q. Akhil and Nikhil were partners..........ccceccvrcerveercecceecnnns
Ans.
Profit and Loss Appropriation Account
Dr. for the year ended 315t March 2022 Cr.
Particulars Amount | Particulars Amount
®) )
To Salary By P&LA/c
Nikhil’s Current A/c 9,200 9,200 Net Profit 1,20,000
(1/2) (+) Nikhil’s Salary 9,200 1,29,200
To Interest on Capital (1/2)
Akhil’s Current A/c 6,000
Nikhil’s Current A/c 4,800 10,800
(1)
To Profit transferred to Partners’
Current A/c 3
Akhil 65,520 marks
Nikhil 43,680 1,09,200
(1)
1,29,200 1,29,200
19 | Q. Aayush and Aarushi are partners..........ceeeveeerrecceerernens
Ans. Average Net Profit =3 20,000
Normal Profit = Normal Rate of Return x Capital Employed
Normal Profit = 10 x 50,000 = ¥ 5,000 ......cccceeverrererrvereerereesrrerere e (1/2)
100
Super Profit = Average Net Profit — Normal Profit
= 20,000 - 5,000
SR 15,000 ..ottt ettt r e bt ea e e b nn s (1/2)
Goodwill of the firm = Super Profit x Number of Years’ Purchase ................ (1/2)
=15,000 x 3
Z45,000 ..ottt (1/2)
Goodwill Premium brought by Naveen =1 x 45,000 =% 11,250 ............... (1) 3
4 marks
20 | Q. Kuber Ltd. purchased assets worth ..........ccccceeceerecierrreennnenns
Ans.
67/5/2 Page 7 of 20




Books of Kuber Ltd.

JOURNAL
Date | Particulars L.F. Dr. Cr.
Amount(3) Amount(X)
Assets A/c Dr. 10,00,000
To Liabilities A/c 1,00,000
To Amrit Ltd. 8,00,000
To Capital Reserve A/c 1,00,000
(business of Amrit Ltd. taken over
at < 8,00,000)
Amrit Ltd. Dr. 2,60,000
To Bank A/c 2,60,000
(paid Amrit Ltd ¥ 2,60,000 by
cheque)
Amrit Ltd. Dr. 5,40,000
Discount on Issue of Debentures A/c Dr. 60,000
To 12% Debentures A/c 6,00,000 | | 1x3
(6,000, 12% debentures of ¥ 100 each
issued at a discount of 10%) =
marks
21 | Q. Unnati Ltd. was registered with an authorized capital ........cccceevrreerccrrenennneee
Ans.
Books of Unnati Ltd.
BALANCE SHEET as at ........ (Extract)
Particulars Note No. Amount ()
| EQUITY AND LIABILITIES
1. Shareholders’ Funds
a. Share Capital 1 5,71,000 1
Notes to Accounts: - *
Particulars Amount )
1. Share Capital
Authorized Capital
80,000 Equity Shares of ¥ 10 each 8,00,000 1
Issued Capital +
60,000 Equity Shares of ¥ 10 each 6,00,000 1
Subscribed Capital +
Subscribed and Fully Paid Up
55,000 Equity Shares of ¥ 10 each 5,50,000 1/2
+
Add: Share Forfeiture A/c 21,000 1/2
5,71,000 marks
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22 | Q. A, Band Cwere partners ........cccoeceeerveereceerecsennene

Ans.
Dr. B’s Capital Account Cr.
Particulars Amount ) | Particulars Amount )
To B’s Legal 3,42,500 | By Balance b/d (1/2) 2,00,000
Representatives A/c By General Reserve A/c (1/2) 1,00,000
(1/2) By Interest on Capital A/c (1/2) 6,000
By A’s Capital A/ (1/2) 16,000
By C’s Capital A/c (1/2) 8,000
By P&L Suspense A/c (1) 12,500
3,42,500 3,42,500 4
Working Notes marks

e Interest on B’s Capital = 2,00,000 x 12/100 x 3/12 =3 6,000
e B’s Share of Profit =2,50,000 x 1,25,000 x 2 =% 12,500
10,00,000 5
Note — No marks for working notes

23 | (a) Q. Kamal, Rahul and Neeraj were partners ........cccceeerurcreecnens

Ans.
Dr. Revaluation Account Cr.
Particulars Amount () | Particulars Amount ()
To Stock 10,000 | By Creditors 10,000
(1/2) (1/2) .
10,000 10,000
Dr. Partners’ Capital Accounts Cr. |+
Particulars Kamal Rahul Neeraj | Particulars Kamal Rahul Neeraj
X) ) (X) X) (X) (X)
To Rahul’s By balance 1,20,000 | 1,20,000 | 1,20,000
Capital A/c 75,000 30,000 b/d
(1/2) (1/2)
To Rahul’s By General
Loan A/c 2,61,000 Reserve 60,000 36,000 24,000
(1/2) Alc (1)
To Cash A/c 54,000 | By Kamal’s
(1/2) Capital 75,000
Alc (1/2) 5
By Neeraj’s
Capital 30,000
A/c (1/2)
By Cash A/c 45,000
To balance (1/2)
c/d 1,50,000 60,000 -
(1/2) marks
2,25,000 | 2,61,000 | 1,44,000 2,25,000 | 2,61,000 | 1,44,000
OR
OR OR
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(b) Q. Ashish and Vishesh were partners ........cccocceeceevcneennee

Ans.
Books of Ashish and Vishesh
JOURNAL

Date | Particulars L.F. Dr. Cr.
Amount (Z) | Amount ()
2022 | Cash or Bank A/c Dr. 1,50,000
April To Manya’s Capital A/c 1,00,000
1 To Premium for Goodwill A/c 50,000
(capital and premium for goodwill amount

brought by Manya)

»

Premium for Goodwill A/c Dr. 50,000
To Ashish’s Capital A/c 30,000
To Vishesh’s Capital A/c 20,000

(premium for goodwill amount distributed

between sacrificing partners in sacrificing

ratio)

” Outstanding Electricity Bill A/c Dr. 20,000
To Cash or Bank A/c 20,000
(outstanding electricity bill paid off)

” Revaluation A/c Dr. 12,000
To Stock A/c 12,000
(value of stock reduced by I 12,000)

” Ashish’s Capital A/c Dr. 7,200
Vishesh’s Capital A/c Dr. 4,800

To Revaluation A/c 12,000
(loss on revaluation distributed between
old partners in old ratio)

” Ashish’s Capital A/c Dr. 6,000 1x6
Vishesh’s Capital A/c Dr. 4,000

To Profit and Loss A/c 10,000 | | =
(existing loss distributed between old marks
partners in old ratio)
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24 | (a) Q. Vani Limited invited applications ......cccccccerveerevrrveneecenenns
Ans
Books of Vani limited
JOURNAL
Date | Particulars L.F. Dr. Cr.
Amount %) | Amount ()
Bank A/c Dr. 6,00,000
To Equity Share Application & Allotment A/c 6,00,000 | | 1/2
(application amount received on 1,50,000
shares)
+
Equity Share Application & Allotment A/c Dr. 6,00,000
To Equity Share Capital A/c 3,00,000
To Securities Premium A/c or 1,00,000 | | 4
Securities Premium Reserve A/c
To Calls in Advance A/c 2,00,000
(application amount transferred to equity share
capital, securities premium and calls in advance) +
Equity Share First Call A/c Dr. 4,00,000
To Equity Share Capital A/c 4,00,000
(first call amount due on 1,00,000 shares) 1/2
Bank A/c Dr. 1,99,200 +
Calls in Advance A/c Dr. 2,00,000
Calls in Arrears A/c Dr. 800 1
To Equity Share First Call A/c 4,00,000
(first call amount received, calls in advance
adjusted and calls in arrears debited)
+
Equity Share Capital A/c Dr. 2,800
To Share Forfeiture A/c 2,000
To Calls in Arrears A/c 800 || 1
(400 shares forfeited due to non-payment of first
call)
+
Bank A/c Dr. 1,600
Share Forfeiture A/c Dr. 400
To Equity Share Capital A/c 2,000 | | 1
(reissue of 200 shares at < 8 per share fully paid
up) +
Share Forfeiture A/c Dr. 600 1
To Capital Reserve A/c 600
(gain on 200 reissued shares transferred to _
capital reserve) r_'narks
OR
OR
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(b) Q. Pass necessary journal entries ........ccceeceeveeevererrneecaenns

(gain on 800 reissued shares transferred to
capital reserve)

Ans.
(i) Books of Vipin Ltd.
JOURNAL
Date | Particulars L.F. Dr. Cr.
Amount (Z) | Amount ()
Share Capital A/c Dr. 1,00,000
To Share Forfeiture A/c 80,000
To Calls in Arrears or 20,000
Share Second and Final Call A/c
(forfeiture of 10,000 shares for non-
payment of second and final call of T 2 per
share)
Bank A/c Dr. 42,000
Share Forfeiture A/c Dr. 18,000
To Share Capital A/c 60,000
(reissue of 6,000 shares at % 7 per share
fully paid up)
Share Forfeiture A/c Dr. 30,000
To Capital Reserve A/c 30,000
(gain on 6,000 reissued shares transferred
to capital reserve)
(ii) Books of Deepak Ltd.
JOURNAL
Date | Particulars L.F. Dr. Cr.
Amount (Z) | Amount ()
Share Capital A/c Dr. 6,400
To Share Forfeiture A/c 4,000
To Calls in Arrears or 2,400
Share First Call A/c
(forfeiture of 800 shares for non-
payment of first call of ¥ 3 per share)
Bank A/c Dr. 9,600
To Share Capital A/c 8,000
To Securities Premium A/c or 1,600
Securities Premium Reserve A/c
(reissue of 800 shares for I 12 per share
fully paid up)
Share Forfeiture A/c Dr. 4,000
To Capital Reserve A/c 4,000

1x3

marks

1x3

marks

(3+3

marks)
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Ans.

25 | Q. Pass necessary journal entries for the following ..........c.cc........

Books of Mita and Sonu
JOURNAL

Date Particulars

L.F.

Dr.
Amount X)

Cr.
Amount )

2022 | (a)
March
31

No Entry

(b) Sonu’s Capital A/c
To Realisation A/c

(debtors taken over by Sonu at I 40,000)

Dr.

(c) RealisationA/c
" To Sonu’s Capital A/c

Sonu)

(realization expenses X 1,800 paid by

Dr.

(d) Mita’s Capital A/c
To Realisation A/c

% 11,000)

(machine taken over by Mita at

Dr.

(e) Realisation A/c
" To Sonu’s Capital A/c

Sonu)

(Mrs Sonu’s loan ¥ 20,000 taken over by

Dr.

Realisation A/c
To Mita’s Capital A/c
To Sonu’s Capital A/c

()

(profit on dissolution transferred to
partners’ capital accounts in old ratio)

Dr.

40,000

1,800

11,000

20,000

50,000

40,000

1,800

11,000

20,000

25,000
25,000

1x6

marks

Ans.

26 | Q. Chiranjeevi Limited issued .........c.ccceuernee.

Books of Chiranjeevi Ltd.
JOURNAL

Date | Particulars

L.F.

Dr.
Amount (%)

Cr.
Amount (X)

a) Bank A/c

debentures)

To Debenture Application & Allotment A/c
(application amount received on 2,000

Dr.

2,20,000

2,20,000

67/5/2
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Debenture Application & Allotment A/c Dr. 2,20,000

Loss on Issue of Debentures A/c Dr. 10,000
To 10% Debentures A/c 2,00,000
To Securities Premium or 20,000
Securities Premium Reserve A/c
To Premium on Redemption of Debentures A/c 10,000

(application amount transferred to
debentures a/c, securities premium a/c and
provision for premium on redemption of
debentures made)

b) Bank A/c Dr. 1,90,000
To Debenture Application & Allotment A/c 1,90,000
(application amount received on 2,000
debentures)
Debenture Application & Allotment A/c Dr. 1,90,000
Loss on Issue of Debentures A/c Dr. 30,000
To 10% Debentures A/c 2,00,000
To Premium on Redemption of Debentures A/c 20,000

(application amount transferred to
debentures a/c and provision for premium on
redemption of debentures made)

Note — Full credit to be given if student has
debited Discount on Issue of Debenture Account
and Loss on Issue of Debenture Account

separately.
c) Bank A/c Dr. 2,00,000
To Debenture Application & Allotment A/c 2,00,000 1x6
(application amount received on 2,000
debentures) =
marks
Debenture Application & Allotment A/c Dr. 2,00,000
Loss on Issue of Debentures A/c Dr. 20,000
To 10% Debentures A/c 2,00,000
To Premium on Redemption of Debentures A/c 20,000

(application amount transferred to
debentures a/c and provision for premium on
redemption of debentures made)
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PART B
OPTION |
(ANALYSIS OF FINANCIAL STATEMENTS)

27 | (a) Q. Which of the following transaction will result ............cceeueen.en.
1
Ans. (C) -- Acquisition of machinery by issue of equity shares mark
OR OR
(b) Q. Match the transactions given ............cccccecueeeenene.
1
Ans. (B)-- (a) (b) (c) mark
@) (i) (i)
28 | (a) Q. Which of the following are not tools .........ccccecueeueuneene 1
mark
Ans. (C)-- (ii) and (iii)
OR OR
(b) Q. Which one of the following statement ...............ccccceeeuu.ee. 1
mark
Ans. (B) -- Current ratio is also known as Acid Test Ratio
29 | Q. Which of the following activities are operating ........ccccceeeeeeneenens
1
Ans. (D) — (ii) and (iii) mark
30 | Q. The current assets of X Ltd. ......cccceceecericnrcnnnnes
1
Ans. (B) -- 3,00,000 mark
31 | Q. Under which major heads and sub heads. .........ccccceeeeeuueunee.
Ans.
S.N. | Item Major Head Sub Head 1/2
a Cheques-Drafts on Hand Current Assets Cash and Cash X
Equivalents 6
Work-in-Progress Current Assets Inventories
C Balance in Statement of Profit Shareholders’ Funds | Reserves and Surplus =
and Loss marks
32 | Q. Itis atechnique which involves ...............ccuuuu.......
Ans.
e Ratio Analysis 1
e Objectives of Ratio Analysis (any two) +
1) To know the areas of the business which need more attention;
2) To know about the potential areas which can be improved with the efforts in the 2
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desired direction;
3) To provide a deeper analysis of the profitability, liquidity, solvency and efficiency

levels in the business;
4) To provide information for making cross-sectional analysis by comparing the

performance with the best industry standards
5) To provide information derived from financial statements useful for making =

projections and estimates for the future. marks

33 | (a) Q. From the following information, calculate ............cccccecucen.....

Ans.

Inventory Turnover Ratio = Cost of Revenue from Operations .........cceee.
Average Inventory

Revenue from Operations =< 10,00,000

Gross profit = 20% of Revenue from Operations
=20% of 10,00,000
=T 2,00,000 ..oooeeeeeeeeeeees oo eee e ees e ee st ees e e see e (1/2)

Cost of Revenue from Operations = Revenue from Operations — Gross Profit
=10,00,000 - 2,00,000
=3 8,00,000 ....ooovrerrrerrienreire e eeeens (1)

Now, Inventory Turnover Ratio = 4 times

4 = 8,00,000
Average Inventory

Average Inventory =3 2,00,000 ........ccooeuereveereererirereneeeereeeerenns

Average Inventory = Opening Inventory + Closing Inventory
2

2,00,000 = 1/4 Closing Inventory + Closing Inventory
2

4,00,000 = 1/4 Closing Inventory + Closing Inventory
4,00,000 = 5/4 Closing Inventory
Closing Inventory = 3,20,000 ........cccceeeemeeeeeererireseeeseeseseeeeeeveseans

Opening Inventory = 1/4 x 3,20,000 4
= 80,000  ovovieeeeieecreetee ettt et ereae s (1/2)

(b) Q. Debt-Equity Ratio of Z Ltd. is ......ccceceeverrveneeverenes

67/5/2 Page 16 of 20

Get More Learning Materials Here : & m @&\ www.studentbro.in



Ans
S.N. | Effect on Ratio | Reason 1/2
I Decline Decrease in Debt and Increase in Equity x 8
li No Change No change in Debt and No change in Equity
lii Decline Decrease in Debt and No change in Equity =
iv No Change No change in Debt and No change in Equity marks
34 | Q. Read the following hypothetical text and answer the questions ...............ccceeueen..e.
Ans.
Dr. Machinery Account Cr.
Particulars Amount () | Particulars Amount )
To Balance b/d 20,00,000 | By Accumulated
Depreciation A/c 20,000 1
To Statement of P/L (gain) 30,000 | By Bank A/c (sale) 4,10,000
To Bank A/c (purchase) 12,00,000 | By Balance c/d 28,00,000
32,30,000 32,30,000
+
Dr. Accumulated Depreciation on Machinery Account Cr.
Particulars Amount (X) | Particulars Amount )
To Machinery A/c 20,000 | By Balance b/d 60,000
To Balance ¢/d 90,000 | By Depreciation A/c 50,000 1/2
1,10,000 1,10,000
Cash Flow from Investing Activities +
Particulars Amount )
Purchase of Machinery (12,00,000)
Sale of Machinery 4,10,000
Net cash used in investing activities (7,90,000) 1%
Cash Flow from Financing Activities +
Particulars Amount )
Redemption of 11% Debentures (20,00,000)
Premium on Redemption of 11% Debentures (2,00,000)
Interest Paid on 11% Debentures (5,50,000) \;1 N
Issue of equity share capital 30,00,000 ~a 4
Dividend paid on Equity Shares (3,00,000) ~q
Net cash used in financing activities (50,000)
Note — If an examinee has prepared Machinery Disposal Account, due credit is to be given. r=narks
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PART B
OPTION -1l
(COMPUTERISED ACCOUNTING)
27 | Q. Codes comprising of alphabets .........ccccvvceeverinnneene
1
Ans. (D) -- Mnemonic Codes mark
28 | (a) Q. Maximum number of characters ......c..cccceevveeerneen. 1
mark
Ans. (C)--64
OR OR
(b) Q. Which one of the following command ............ccccecerrueeuennes 1
mark
Ans. (A) -- Undo
29 | Q. Which of the following is not the advantage .........cccceeeceeeueeneen.
1
Ans. (D) -- Cannot summarise large amount of data mark
30 | (a) Q. Which of these .......ccceeeveeeenene 1
mark
Ans. (B) -- Value-when-false
OR OR
(b) Q. How many blank worksheets .........ccccceceecerrueeneenee 1
mark
Ans. (A) -- Three
31 | Q. Explain the following sub SyStems Of ........cccceeevurerrrersneecsnersnenens
Ans.
(a) Cash and Bank Sub-System
It deals with the receipt and payment of cash both physical cash and electronic fund
transfer. Electronic fund transfer takes place without having the physical entry or exit
of cash by using the credit cards or electronic banking. 1%
2
2
(b) Sales and Accounts Receivable Sub-system _x 3
It deals with recording of sales, maintaining of sales ledger and receivables. It generates ;1arks
periodic reports about sales, collections made, overdue accounts and receivables
position as also ageing schedule of receivables/debtors.
32 | Q. Explain - “Number formatting”, “Percentages” and “Dates” as ..........cceeeuverennne
Ans.
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(a) Number formatting
Number formatting includes adding percent symbols (%), commas(,), decimal places,
and currency sign ($,<etc.), date, time, scientific values and as well as some special
formats to a spreadsheet. The type of number format can be determined once the data
is entered into the cell.

(b) Percentages
If we enter a value representing a percentage as a whole number followed by

percentage sign without any decimal places. Excel assigns to the cell the
percentage format that follows this pattern along with the entry.

(c) Dates 1x3
If we enter a date (dates are values, too) that follows one of the built-in Excel =
number formats, such as 26-04-2021 or 26" April — 2021 the program assigns a marks

Date format that follows the pattern of the date.

33 | (a) Q. Define Accounting cycle ........cceeeuereennnne

Ans.

Accounting Cycle
Accounting Cycle means the process involved in identifying, measuring and 1/2
communicating the information.

The basic phases of the cycle are as follows:

e Business transactions are analysed

e The transactions are recorded in the journal

e Journal entries are posted to the ledger accounts

e Accounts are reviewed and the necessary adjustments made. 3%

e Adjustments are posted in the ledger to prepare adjusted trial balance.

e Adjusted trial balance is used to prepare the Balance Sheet and Profit and Loss
Account =

e Financial statements are prepared from the finally adjusted ledger and marks
balancing the accounts
OR OR
(b) Q. Explain the meaning........cccceeveeeneecuennns
Ans.
Password Security
Password is widely accepted security control to access the data. Only the
authorised person can access the data. It ensures data integrity. It uses a binary 2
encoding format of storage and offers access to the database.
+
Data Audit
Audit feature of accounting software provides the user with administrator right 2
in order to keep track of unauthorised access to the database. It’s an audit for
the correctness of the entries. =
marks
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34 | Q. Name the error which appears ......ccccceveevrververeranee
Ans.
The error is knownas__ REF ! Error. 1
This error is corrected by: +
(i)  Click the cell that displays the error, click the button that appears and
then click Show Calculations Steps if it appears. 5
(ii)  Review the following possible causes and solutions :
e Deleting cells referred to by other formulas, or pasting moved cells
over cells referred to by other formulas.
e Change the formulas, or restore the cells on the worksheet by clicking =
undo immediately after we delete or paste the cells. marks
e Using an object-linking and Embedding (OLE) link to a program that is
not running.
e Start the program.
e Linking to a Dynamic Data Exchange (DDE) topic such as “system” that
is not available.
e Make sure that we are using the correct DDE topic.
¢ Running a macro that enters a function that returns # REF!
67/5/2 Page 20 of 20

Get More Learning Materials Here : & m @&\ www.studentbro.in



	Accountancy Paper 14.pdf (p.1-40)
	Accountancy Paper 14 answers.pdf (p.41-60)

